201981 A= M| 1A AA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
T | F =

1.0o1d+Y 562,962,000 562,962,000 562,963,240
1. AR A o] [ 10,115,000 10,115,000 10,115,000
1. AN R 10,115,000 10,115,000 10,115,000
1.7] 2 A A G2 A Y 10,115,000 10,115,000 10,115,000

G LD A DAL F (7] %) = 10,115,000
2. W51 5 3] A o] [ 4=5] 550,847,000 550,847,000 550,848,240
L aSH S AAG T+ 550,847,000 550,847,000 550,848,240
1.8t w8 Al g = 550,847,000 550,847,000 550,848,240

S Fu A Y= = 210,659,000

EAAGR A Y= = 340,189,240
3. 71etol A4 2,000,000 2,000,000 2,000,000
1.7 830l A9 2,000,000 2,000,000 2,000,000
1.71et8- 3 AL+ 2,000,000 2,000,000 2,000,000

71 ERA A = 2,000,000
2. AHA ) 112,548,000 112,548,000 112,554,930
1.3H RS9 110,400,000 110,400,000 110,405,880
1.4l AR g2 9] 110,400,000 110,400,000 110,405,880
1,929 71,493,000 71,493,000 71,492,880

A = 67,828,850

S 2l = 3,664,030
2.5 758k gHgH] 28,360,000 28,360,000 28,360,000

W358 3 &5 H] = 28,360,000
3. AFAF e 2,850,000 2,850,000 2,850,000

A7 A P k5] = 2,850,000
4.5 7w 7,697,000 7,697,000 7,703,000

] g H = 7,703,000
2. YA FE5Y 2,148,000 2,148,000 2,149,050
LA R SF4E 1,067,000 1,067,000 1,067,750
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201981 A= M| 1A AA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
a =
1AM RE SR 1,067,000 1,067,000 1,067,750
AR = 1,067,750
2. 72k 382,000 382,000 382,000
1. Apatke) Zh o) 382,000 382,000 382,000
A}kl 7)o = 382,000
3.7t sy 699,000 699,000 699,300
1.0]244 578,000 578,000 578,300
0] 23] = 578,300
2. 7168 AT ESY 121,000 121,000 121,000
et EEr Y = 121,000
13,005,000 13,005,000 13,005,850
4= 13,005,000 13,005,000 13,005,850
1.EAAY = 13,005,000 13,005,000 13,005,850
1.eAAY A= 13,005,000 13,005,000 13,005,850
FAAD A = 13,005,850
Al A 688,515,000| 688,515,000, 688,524,020
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